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2. x?-br+6 ASES 7

D (x-2)(x+3) @ (x-2)(x-1) ® (x-2)(x+1)
@ (x-2)(x-3) ® (x+2)(x+1)
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4.

= Al T a, b, c i BAS SHEA UERd 227

a=V3+3,b=5-vV2,c=4

D a<b<c @ b<a<c

@ c<a<b ® c<b<a

@ b<c<a




5.

O = ma]A
= 6 T T

V2 5k VB Afele]] gl Telst obd 212 (s,

1.414, V3 =1.732)

@ Vv2+0.1

@\/i;r«/ﬁ

@ V3-01
V3 -2

® V2402



6.

(x+2)? = (x-1)(x+2) & A5t
® 2x24+4x+6 @ 2x% - 4x
@ 3x+6 ® 3x-6



AL

=

2
6

oo
Mo

=
K

@ a>09Y ), a9 AFTL Va oItk
@ V16 o] AlFTL £2 ot}

® 1.6 o] A& +0.4 oJtt,

@ 0 °] AlFL2 glet

® a<0¥d, \/(-a)?=aolt}.



D V2<2

@ V0.1<0.1

9] A TATE A 2 A2
@ -V3>-45 ® V8<3
® 3< 410
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11.

+ 744 $191 4 A,B,C, D

| g8k 4+ 4V3-2,2V5-5,10-
3v5, Va7t A Acl th-gshe 55 a, A Bol -85t 5 bt

o, a+ b P& oY

. CA . ) B CD
-2 -1 0 1 2 3 4 5 6

@ 3V3+2v5-5 @ 5-5
® Vv3-2



57 +x =45 & o,

12.

@ 23 ® 1 @9 ® 3

O 32



13. a0+ M+%:m, VIE x \/gx 8= bv6 o T, axb
BRIy

@ 4 @ 9 ® 16 @ 25 ® 36



1 L L = gastar

V2 Vs T VR D

@® 6 @ 5 ® 4 @ 3



15. ab= -4, (a+2)(b+2) =102 W, a* 4+ b* 4 a®b + ab® 9] F2?

@® 121 @ 134 ® 146 @ 152 ® 165



